ETKER FHIOFEIFEXRME—F [K &)

(FEIX1.72)
IE4 TEE IEHME HIFEAH
EKEMRITE INEIIZ=TBE $700 1t L= 600 m 78
FIL—TH $700 L= 400 m 38
EKEMRELSE mE#HEF $ 350 L= 320 m 68
KEXRET—T Bt ¢ 200 L= 640 m 68
IBF9E—T B fth ;%(1)00~¢> L= 520 m 6H
T +HTHh $ 100 L= 420m 68
an_TH @200 L= 250 m 68
pNE $100 L= 400 m 68
RFEZA $ 100 L= 300 m 68
HAE#HE TR @ 150 L= 590 m 6 A
Z AT $ 300 L= 250 m 7R
INEI=T Bt $1~d L= s0m 78
HET ;z;)g)oo~ ¢ L= 360m 7H
KFFII %(1)00""’5 L=  540m 78
g ¢330t L= 450 m 8AH
RFEE ¢ 300 L= 390 m 88
RF4H ¢ 300 L= 400 m 8H
RNNE—TAEt ¢ 150 L= 300 m 8AH
KFHF %(1)00“' ¢ L=  420m 8H
ZAHTfth @ 100 L= 220 m 8A




ETKER FHIOFEIFEXRME—F [K &)

(FFIX272)
IE4 TEE IEHME HIFEAH
EKEMRELSE RF4H $100 L= 470 m 9R
BE-TH @ 150 L= 300 m 9R
o+ HET{th ® 150 L= 300 m 9H
KBZTH 300t L= 80 m 108
HIET—TB $200 L= 150 m 12H
ISRFEKEMMERER (FU=TH @ 150 L= 70 m 10A
axmEEREREIEE & MRINT (BEREERO g 108
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ETKER FHIOFEIFEXRME—F [K &)

UNEILR1.2)
I%4 TEERT IEHE BIFEAR
EKEMRBELSE HARET ® 100 L= 280 m 58
LZ;EmMTH ®100 L= 190 m 5A
HEE-TH %AOO“' ¢ =  20m 5H
FIR=ZTHE ® 100 L= 340 m 5A
iche: ¢ 300 L= 500 m 6 H
RIE—TEf %(1)00""’5 L= 320m 6H
=EZTH ® 100 L= 290 m 6R
WiE-TH ¢ 100 L= 350 m 6H
#BaEfT—TH $ 150 L= 220 m 68
FFILET @200 L= 270 m 7R
EHE $100 L= 540 m 78
TEH=THE# ® 150 L= 400 m 7R
AR (ZD1) ¢ 100 L= 680 m 7H
ZR=TH $ 150 L= 500 m 7H
AT (£D2) $ 150 L= 350 m 7H
HE=TBfth ¢ 400 L= 80 m 8AH
iche: ¢ 3001tk L= 550 m 8H
iz $300fh L= 590 m 8A
=HA=TH ®100 L= 420 m 8 A
BFHETH @100~ | —  200m 8H
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ETKER FHIOFEIFEXRME—F [K &)

(hEIEXR22)
I%E4 TEERT ITEHE HIFEAR
B KEMZBIE RHATH ¢ 100 L= 170 m 8H
K #E—TH %(1)00""’5 L= 260m 98
fH EETth %(1)00~ ¢ L= 380m 9H
P AHT (2D 3) ¢ 100 L= 640 m 9R
EATTH ¢ 100 L=  320m 108
ARHERT ¢ 100 L= 200 m 118
AET=TH ¢ 100 L= 180m 128




ETKER FHIOFEIFEXRME—F [K &)

UhEFEX1/2)
I%4 TEERT IEHE BIFEHA
EKEMHRTE BHFET=TH @700 L= 460 m 8A
H#E-THE $1000 L= 250 m 8A
BIFET=T Bth p700fth L= 980 m 10A
EAEARETE  |BREETE o0 = 130, 58
EHRETH ®100 L= 120 m 5H
EH—TH ® 150 L= 120 m 58
RFEHFH ¢ 300 L= 170 m 6 A
ZIFHET=T B $ 350 L= 180 m 6 A
il i) ¢ 200 L= 170 m 6 A
EER-TH ®200 L= 380 m 6 A
SIRFEFE_TE ®100 L= 400 m 68
RTAATH ®100 L= 80 m 68
RITE=TH ®100 L= 460 m 68
=N—TH @ 300 L= 460 m 7R
WF—TH ®100 L= 280 m 7H
BEE=TH ®75 L= 50 m 7R
FEBEANTE ®100 L= 250 m 7R
hER=TH o0 L= 230, 8
EHAE ¢ 500 L= 150 m 9A
EAEFET=T Bt ® 600 L= 170 m 9R




ETKER FHIOFEIFEXRME—F [K &)

UhERX22)
I%E4 T IEHME HEIFEAH
EKEMRELSE BRETET B ® 150 L= 130 m 9R
tEE=TH ® 150 L= 120 m 108
TEWTH 250 L= 20 m 118
TEIRHET—TAH ® 100 L= 80 m 11A8
SHAETHS (®.ETH)®100 L= 160 m 118
%;}é;%i%@gﬁﬁ KT AR TS %g@ﬂ%éﬁﬁ@ - 108
ITORARERER xeat Arams |SZCERO g 108




ETKER FHIOFEIFEXRME—F [K &)

EHRR1/1)
IE4 TEE IEHME HIFEAH
EKEMRELSE RFIMT(ZEDT) » 150 L= 330 m 5A
R-E—TH $75H L= 470 m 5A
R/NGHET 100 L= 195 m 58
mEI—TE $ 100 L= 350 m 5RH
XFEE $ 100 L= 260 m 5R
KFREfh &ZOOmm L= 330 m 6H
75 MR ET fth 1%350"‘"‘ L= 300 m 6H
RKFZH $ 100 L= 490 m 68
75 B T $100 L= 230m 68
KLt R200m™ = 30 m 8A
L [RET $ 150 L= 240 m 8H
RFIMI(ZED2) $ 150 L= 250 m 8H
BBAER=TH $ 100 L= 260 m 8H
IRKEKEESER |[SX=TH ¢ 100 L= 380m 108
BT IRR R sx - TR mar T %ﬁgﬁggiﬁ s 108
HEIE




ETKER FHIOFEIFEXRME—F [K &)

(J\IBEX1.1)
IE4 TEERT IEHME HEIFEAH
Rk EHEBTE WE—TH B10m™ L= 200m 5
FEF-TH@RIR) ¢ 100 L= 285 58
RE RETH: @75 L= 290 58
HQET=T Bt 1%450”‘”‘ L= 250 m 68
Rigg—TEft ® 150 L= 470 6R
XE&=TH $ 150 L= 310 6H
EOETZT Bt $100 L= 220 68
wE—TH $ 100 L= 400 78
FEARET—T B fth ® 150 L= 300 7R
HEE=TH 1%300”‘”‘ L=  300m 8A
EKEMRIE BAEZTEH(EZED2) ®150 L= 350 9R
gﬁ;k%ﬁﬁ%l%(l K = 1%700mm L= 200 m 4R
HA—TH ¢700mm | — 200 m 5H

ftt




ETKER FHIOFEIFEXRME—F [K &)

(J\tEFEX1.2)
IE4 TEERT ITEHE HEIFEAH
RKEHRELSE Bl 24 BTt AI%0MM | — 500 m 5A
BIFAE T B fh(ie ) 1%400”‘”‘ L= 300m 58
AR =TH $ 100 L= 290 m 58
ARET(ZEDT1) $ 100 L= 445 m 5R
AWE—TH $ 100 L= 245m 58
T B E2 T 1%350”‘”‘ L=  530m 68
BI#A—T B ) 2A00MM = 300 m 68
BT fts @20m™ = 450 m 68
INEZTE 1%300"‘"‘ L= 400 m 6H
BIH=TH ¢ 100 L= 420m 68
$E=-TH ¢ 100 L= 280m 6H
fERMET B $ 100 L= 220 m 6 A
B =T Bt 1%350"‘"‘ L= 180 m 7H
B -TH 1%300”‘”‘ L= 600 m 7R
AEB=TH $ 100 L= 500 m 7R
R HT ¢ 100 L= 390m 78
INEB=TH $75.100 L= 395m 78
NHRET(ZD2) ¢ 754t L= 275 m 7H
+tEFA=TH 1%350"‘"‘ L= 350 m 8H
HHE=TH $100, 150 L= 855 m 8H




ETKER FHIOFEIFEXRME—F [K &)

(J\1EFEX2 2)
IE4 TE&ER ITEHME WBIFEAR
EKEMREILSE INVEE F BT @ 150 L= 590 m 8A
WMAR—TH ® 100 L= 260 m 8A
INE=TH ¢ 100 L= 205 m 9H
EEZEEDTH ¢ 100 L= 215 m 94
FHRyIE—TH p100fts L= 560 m 9H
INEBIETHE ® 100 L= 250 m 10A
BCKEMHRTE KRFH#H ®50 L= 200 m 8A
=Ealiy $75H L=  326m 78
RAEHRETETK [ME—TH %™ L= 150m 48
RERADSKARES \woR=THE RESKS |[SREFRORH E 68
ALAIOSRIREM mog=Ta ReEHKS %Z{%ggﬂgg i 3
REBIBOBENE |moR=TE REHKS %Z{%ggﬁgg i 115
REFADRBARR |mon=TE rEmwks f e T 1 117
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ETKER FHIOFEIFEXRME—F [K &)

(FMX1.71)
IE4 TEE IEHME HIFEAH
EKEMRELSE IERETHh @ 400mmfth L= 370 m 5A
%IL—T B ® 300mmft L= 310 m 58
RRXAZTHE®D) ¢ 150 L= 250 5R
FaER 4 A HT $ 150 L= 220 5A
EN=TH $ 100 L= 430 68
XEF_TH $ 100 L= 400 6 A
HET—TH $ 100 L= 280 78
HE—TRft $ 100 L= 570 8H
FH=TE(ZD1) ¢ 100 L= 280 8A
—&%=TH $ 100 L= 340 9AR
EARRRELEE  |ep-Tate) $600mmfts L= 260 m 45
HIRFE—T B (R EK 53 I%) | ¢ 600mmith L= 20 m 47
RATS TR ARE lxm xateT  [BO7OR g 67
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ETKER FRIOFEEIZREXRME—F [K

]

(fist-ZDith1.1)

%% THER THBE BIFEA
RAEHRETE  [ks@E@EmE=TEE  |§007T L= 200m 54
EATEHEFRER |1 ARHOE | 10R
EAKEHEFERT |1 KO % .
REBWHEHIE | &7 EDHOEH i 67
HERRDARBLIE &7 BUH OEH i 67
AHEDHRHTE  |&5 EYWHOEH i 67
HAREMRRIAEL g HASOEH 3t 108
IETLA—SEEEN |, EBTLAR 10
KERERHBRAZ |2 KEHBOEH 13 108
FARRESEENRE |op RERRREE | 10F
REMEHEIILEL g REHOEH 3t 108
PEERKSEARS jamr premks |(Gpooom® gz 108
PEBHALESLY Lkam premis |[famae” 1z 108
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